Chemstry - T CRav)

[Time: 2 %Hours]

Please check whether you have got the right q

NB: 1. All questions are compulsory. :
2. Figures to the right indicate full marks. -
3. Use of non-programmable scientific calcula

Useful constants
c=2.998 x 108 m.s™! e=1.602 x.1
R = 8314 J.K! mol k=1.3811:
=2.0 cal.mol'.K"! 2
h=6.626 x 10°*4]s
me=9.110x 107 kg

Na=6.022 x 10%* mol!

Q.1 A) Attempt any two of the following -
i) What are the characteristics of entropy? Which molect 4
molar entropy under same co ditions & ‘Why
CH;CH;0H and CH:CH2COOH .-
ii) Starting with van der wgal,’;s',(:‘fciiiiatlonishow that: 4
where the terms havg.:li‘s;ﬁzilffpjéa\m_n
iii) Using Maxwell’s relation prove that’ 4
scp\ _ [ 8% DT 0%
(’EF) e (sr.qp) T(
7
4
mutative property of an operator with a suitable example. 4
'f wave function? Normalise the following wave function. 4
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B) Attempt any one of the following : |

1) A particle of mass 9 x 107 kg is confined in one dimensional bo:g)
the ground state and first exited state energy level in eV Comme
quantized. A

i) Which of the following functions are eigen functions for th_,,o;;w

Q.3 A) Attempt any two of the following :
i) Show that the rate of polymerization reaction is p
concentration of the monomer. :

ii) Write the reaction mechanism for the decompo

principle show that
< [CH,J=K[CH;CHOJ*?

iii) Discuss Hinshelwood theory of unimol: 4
4
B) Attempt any one of the followmg‘ =
i) In the following reaction scheme W 4
in dlfferentlal form s
(i) AR — C+Dfs‘<5
4

< SRS Y,
consecutlve actlons asIsopropyl benzene (A) =2 Isepropyl-sec butylbenxene(B) —> Isopropyl-
: s utyl benzene mm 1(C) If the: 1n1t1a1 conce‘ ,ratlon of isopropyl benzene is 100M and the

()2 min® and k2—4 0 X! 10,3 mm . Find the concentration of each species at the

proces of @ '_s'orptlon of proteins onto metal surfaces from solution.

.
.
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